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___1) On what does the government spend the most on?  A)defense B)health care C)interest on the national debt D)social security

___2) What is the budget of the federal government this past year (the last year we know for sure)? A)857 billion B)1.64 trillion C)3.8 trillion D)6 trillion E) 10 trillion  

___3) How much is the national debt(roughly)? A)1 trillion B)1.8 trillion C)3.8 trillion D)10 trillion E) 17 trillion

___4) Where does the federal government get the largest single amount of revenue from? A)corporate income tax B)import taxes C)personal income tax D)social security taxes 

___5) Which of the following would be an excise tax? A)personal income tax  B)pollution tax on a large corporation C)tax on alcohol D)tax on estates and large gifts 

___6) Which of the following tax structures would be proportional?  A)everyone pays 15% of their income B)as you make more, you pay a higher tax rate C)everyone pays a flat $10,000 D)taxes are based on the number of years you have worked, as you work longer, you pay a smaller percentage of you income to the government

___7) Which of the following is an example of a regressive tax?  A)sales tax B)flat tax C)progressive tax D)excise tax

___8)After Godzilla thoroughly thrashes, destroys, roasts, cooks, makes into taffy and eats the Stay-Puff Marshmallow Man, he decides to get a cool Gatorade to replenish his body (not that he needs it!).  He pays 6% sales tax on the purchase at the Kwik-E-Mart in Roseville.  Who receives the money from the taxes?  A)the Federal Gov. B) the state Gov. C)the city Gov.  D)Nobody, Godzilla don’t pay no stinkin’ sales tax!!!!!  

___9) Taxes can be used to do all of the following except A) stop inflation B) raise revenues for the gov. C) encourage or discourage the behavior of citizens D) lower interest rates E) subsidize particular industries

___10) An example of expansionary fiscal policy would be A) cutting taxes B) cutting government spending C) cutting production of consumer goods D) cutting prices of consumer goods

___11) The purpose of expansionary fiscal policy is to A) increase output B) prevent hyperinflation C) slow the growth of GDP D) increase separation between government and private industry

___12) All of the following are reasons why it is difficult to put balanced fiscal policy into practice EXCEPT A) the need for mandated spending B) political pressures for reelection C) difficulty of predicting future economic performance D) difficulty in understanding the purpose of many different agencies

___13) What happens when the Fed increases the money supply? A) there is more money for loans and investments which creates jobs B) more money means that prices drop so that more people can buy goods C)they print more money and put into the state lotteries as winnings D)taxes will go up by 5%

___14) When you buy a United States Savings Bond, you A) loan money to the government B) borrow money from a savings and loan association C) donate money for special government projects D) pay for your child’s college education

___15) All of the following are problems associated with high national debt EXCEPT that it A) reduces funds available for businesses to invest B) makes it harder for the government to fund projects C) makes investing in treasury bonds, notes, and bills the riskiest investment available D) can slow the growth of the GDP

___16) The Fed decides to use open market operations to decrease the money supply, how would they do this?  A)sell government bonds on the market B) print less money C) increase taxes D) buy securities on the market 

___17) How could the Federal Reserve encourage banks to lend out more of their reserves? A) reduce the money supply B) raise the required amount of reserve C) increase the prime rate D) reduce the discount rate

___18) Why does the Federal Reserve alter monetary policy? A) to regulate the banking industry B) to provide services to member banks C) to lessen the effect of natural business cycles D) to enable banks to clear checks

___19) If the required reserve ratio is set to 5%, what is the money multiplier?  A) 5 B) 10 C) 20 D) 100

___20) If the required reserve ratio is increased from 5% to 8%, what impact will this have? A) an increase in the money supply B) a decrease in the money supply C) an increase in fiscal policy D) a decrease in fiscal policy E) not much, its only 3% more

___21) Which of the following will most likely happen if the Fed decides to raise interest rates?  A)Mr. Lount will have to pay more in interest for the loan he is about to get, in order to build the Lountorium B) Mr. Mantela will become more rich due to his wise investments in the stock market C) Miss Bilbrey will have to pay a larger % of her income in taxes D) Mr. Stevens will get a bonus due to the increased revenue the school receives E) Mr. Hartley will say “What are you talking about?”

___22) What is the major source of revenue for local governments? A) inheritance taxes B) income taxes C) property taxes D) sales taxes

___23) The federal budget is put together A) every other year B) by Congress and the White House C) to report to Congress on the preceding year’s expenditure D) in order to reimburse state governments for costs of federally funded programs E) all of the above

___24) In contrast with classical economists, Keynesian economics A) reduces the role of government B) has government intervene with fiscal policy when necessary C) relies more heavily on the laws of supply and demand D) more strongly emphasizes the importance of individual businesses to the overall health of the economy

___25) When revenues exceed expenditures, A) there is a budget surplus B) there is a budget deficit C) the government must create more money D) the government is forced to issue more bonds to raise money

___26) Which of the following is an example of discretionary spending? A) health care 

B) social security C) military D) interest on the national debt

